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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer script during this period.

AT

ACCOUNTANCY

FriRe @ : 3 gu2 ] [ s % : 80
Time allowed : 3 hours ] [ Maximum marks : 80
| e

() TETETUT AT I F fgaT & & @R T |

(i) 9T F qY Sl & forw st &

(iii) WM#WW@@#V##W@‘WWWW?/
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General Instructions :
(i)  This question paper contains three parts A, B and C.
(ii))  Part A is compulsory for all candidates.
(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.
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PART - A

(SETHHRY WAL, TSR Al 791 Bt & fore daie)

(Aécounting for Not-For-Profit Organisations, Paf’tnership Firms and Companies)

WWWWWW@%%%W&MWWW%?

For which share of Goodwill a partner is entitled at the time of his retirement ?

T STATHFHR T FHT ITFoTa U W sAE STH I/ fadi faeror s 1 Sasg |

Name the financial statement prepared by a Not-For-Profit Organisation on accrual
basis.

gel AR @ 59 Hh HOTAT S AME T His Toh o9 Sl |

Give any one advantage for the redemption of debentures by purchase in the open
market ?

TF TR R & T Yanait & micufi & favw ¥ ard weert st & aeEEt o
IeAE HIT |

State the provisions of Indian Partnership Act regarding the payment of remuneration
to a partner for the services rendered.

T W & T & Tl gt TRl & oot Y |

State any two occasions on which a firm can be reconstituted.

- 99 fa 3 T e | T 10,00,000 3 o w1 69 fwar |39 A & 10% H1 T T o

! UH A% & FI FHAT T | AW AR A P T 10 TS & quan e, R 10% & 593
R fifhe T e, 3 g T v

7 for. ol Qe § navaeh ST wiatedt S |

Jain Ltd. purchased Building for ¥ 10,00,000 from Gupta Ltd. 10% of the payable

amount was paid by a cheque drawn in favour of Gupta Ltd. The balance was paid by
issue of Equity Shares of ¥ 10 each at a discount of 10%.

Pass necessary Journal Entries in the books of Jain Ltd.

TR A& . 7 T 100 W= & 7500, 12% For, 7 X 35ma%uﬁfqmur&n‘n’qa
T o1, & TIU AER St 76U | qut Ui 61 A STes W T @1 |

el 10,000 TG % fAT SMEGT Ul g 1 2500 FOTTH & A0 et @ F & @
AT AT T ATTH FT &Y TS | I IS i RO 1 ATeie H {2 1T |

SR Tt & FIT TR0r et fe, 6 qeaent § Aot wafest i |

Narain Laxmi Ltd. invited applications for issuing 7500, 12% Debentures of ¥ 100
each at a premium of ¥ 35 per Debenture. The full amount was payable on application.
Apphcatlons were received for 10,000 Debentures. Applications for 2500 Debentures

were rejected and the application money was refunded. Debentures were allotted to
the remaining applicants..

Pass necessary Journal Entries for the above transactions in the books of Narain
Laxmi Ltd.
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e gEmT @ 31-3-2011 H GUI g€ o9 % U 9= @ W 31T Fi, AT = @ §
3 A & feE, T ST |
a9 2010-2011 & vIat == T 3,40,000
31-3-2011 &I 3& == T 47,000
31-3-2011 St I A =T=T T 35,000
1-4-2010 i 375 =T T 28,000
1-4-2010 i 3T W =<7 T 25,000
From the following information, calculate the amount of income from subscriptions
to be shown in the Income and Expenditure Account for the year ended 31-3-2011 :
Subscriptions received during the year 2010-2011 ¥ 3,40,000
Subscriptions outstanding as on 31-3-2011 “ ¥ 47,000
Subscriptions received in advance as on 31-3-2011 - ¥ 35,000
Subscriptions outstanding as on 1-4-2010 - ¥ 28,000
Subscriptions received in advance as on 1-4-2010 + T 25,000

IS, T T AF WEER § S o B HA: 140 5 : 6 % IO A fafim wva ¥

ﬁnwmm%wmww%mﬁ%wﬁm% | T et

HRFTH % 2 Y % T & S W TR I & Fwent 1o fuse 99wl & sitea e
T A ¢ | froe @7 a6t & @ %E T 50,000, T 55,000 1 T 60,000 § | THA ®Y
1 3 GH H WHART A T 30,000 AH & | ®H H I&Ih W ST BT Ted Ted D &
% 75,000 JifhT & | T 3 TR U F AR F S FH H TG T B A T 1,00,000 ¥ |
AT OIS R U B Y RIS W ST o SIS 71 o faawer i savas
AT wfaftedt i |

Arjun, Bhim and Nakul are partners sharing profits & losses in the ratio of 14 : 5 : 6
respectively. Bhim retires and surrenders his 75/25“’ share in favour of Arjun. The
goodwill of the firm is valued at 2 years purchase of super profits based on average
profits of last 3.years. The profits for the last 3 years are ¥ 50,000, ¥ 55,000 &
% 60,000 respectively. The normal profits for the similar firm are ¥ 30,000. Goodwill
already appears in the books of the firm at ¥ 75,000. The profit for the first year after
Bhim’s retirement was ¥ 1,00,000. Give the necessary Journal Entries to adjust
Goodwill and distribute profits showing your workings.

vt . R HW T 100 TR F 750, 12% FOOH & WA H F0iE T | w3 500

FOTTA T KA T 94 U T B W B G IR ¥ A | A9 0T v o o |

fepar T/ 1 ST 0T UF S B T SASH Y Tl | qoad & A gan € |
ITITT AT % AT FHHL I TEIHT A YD AT WRET BT |

Shakti Ltd decided to redeem its 750, 12% Debentures of ¥ 100 each. The company

“purchased 500 Debentures at I 94 per Debenture from the open market. The

remaining debentures were redeemed out of profits. The company had already made
a provision for Debenture Redemptiont Reserve in its books.

Pass necessary Journal Entries in the books of the company for the above
transactions. .
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11.

12.

13.

JTBUT AT SRS T ®H o WRIGR & St 5 ¢ 3 & T H o afed & | 1-4-2010 i 3D
IR Tt fT W ot © 30T T 60,000 AT SIS X 80,000 | I ToHt W 12% Wit a9
T Y AT S T TN W 15% Wi a9 & 5T § A 0 61 Ao fhar | 31-3-2011
T U aY & e Swia Tt e @ U WO oty 12,600 o7 | 99 % RE
3TEVT F SRV T 2,000 T 3RS o T 4,000 & | 3TEUT TN STAST Tl o B T @t
TR ST T 19T oSt B T 3wiRT | BH H 1 gF e H off O W = K
ST |

Arun and Arora were partners in a firm sharing profits in the ratio of 5: 3 Their
fixed capitals on 1-4-2010 were : Arun ¥ 60,000 and Arora ¥ 80,000. They agreed to
allow interest on capital @ 12% p. a. and to charge on drawmgs @ 15% p.a. The
profit of the firm for the year ended 31-3-2011 before all above adjustments were
¥ 12,600..The drawings made by Arun were < 2,000 and by Arora ¥ 4,000 during the
year. Prepare Profit and Loss Appropriation Account of Arun and Arora. Show your

calculations clearly. The interest on capital will be allowed even if the firm incurs
loss.

Frfea @ieHT % e T fer. =t el # sttevass st wfafted! Hifg -

) T 17578 ¥ 1,200, 9% TG WA T 100 FF F 10% T B0, B 5%

% Uiy w Fifaa foear man, o uRtafaa w5 fear mn

() ¥ 50 % 19,000, 6% FOTGE H WA T 100 TAF b THAT W F qNAGd Hh
fera | T 3 W 5% % §g W e T T o

Pass necessary Journal Entries for the following transactions in the books of N.R. Ltd :

(1)) Redeemed 1,200, 9% Debentures of T 175 each by converting into New 10%
Debentures of ¥ 100 each issued at a premium of 5%}

(11) Redeemed 19 OOO 6% Debentures of ¥ 50 each by converting them into Equity

~ " Shares of ¥ 100 each. The Equity Shares were issued at a discount of 5%.

‘% T @ TH HH F 3 ¢ 2 R A WRIER & 1 31-3-2011 H wH 1 ferfa foraror fre
Yehil o1 .
31-03-2011 %t ‘& @ ‘& @t feafa faavor

J St

LEalY

it
s

it

T
(4

ot
iCo
“@"

fafir= 9 =_R

3,00,000

2,00,000

5,00,000 |

1,17,000

6,17,000

2,40,000
1,75,000
80,000
75,000
47,000

6,17,000

1-4-2011 & ®H T FHII & 1 721 FHial Ud SARIET 1 FHEARoT H=mar gam

(i) ORI 9aA SO YO P wWe o ferar |
(i) AR B G Y YIS God W 5% B W 6T P Foh o o |
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(iii) ITERI ¥ TH HO7 IGeAt WA 7 T 5,000 FH AW W IGeA H |

(iv) Wi dT 70,500 AT U |

(v) @ Tl TG AT T B F T WA g | 3H HE F [T @ H T 500 H
T T TR | et o @l arataes it T 1,000 o

T % GHIG % AT sTreraes st vfafteat HivTg |

A and B were partners in a firm sharing profits in the ratio of 3 : 2. On 31-3-2011

Balance Sheet of the firm was as follows :
Balance Sheet of A & B as on 31-03-2011

Liabilities Am;unt Assets Am;)unt
Capitals : Building 2,40,000
A 3,00,000T Furniture 1,75,000
B 2.00.000 5,00,000 | Debtors 80,000
Sundry Creditors 1,17,000 | Stock 75,000
Cash 47,000
6,17,000 6,17,000

The firm was dissolved on 1-4-2011 and the Assets and Liabilities were settled as

follows :

(1)  Building was taken over by the creditors as their full & final payment.

(i) Furniture was taken over by B for cash payment at 5% less than the book
value.

(i11)) Debtors were collected by a debt collection agency at a cost of ? 5 OOO

(iv) Stock realised 70,500,

v) ‘B agreed to bear all reahza;lon expenses. For this service B is paid < 500.
Actual expenses on realization amounted to ¥ 1,000.

Pass necessary Journal Entries for dissolution of the firm.

14.  31-3-2011 & G §T a9 & fw = Fo1ar &1 ‘Wi Tl e @ Tfefa o 6
31-3-2011 &t T §T Y & {70 = Forar &1 Wit ua Sran @rar
i) |
e Tty afw
3 . d
Y (AT W) 3,400 | 999 (8 W 24,000
)
=T 21,000 | ferrar 3,000
LENRIED 5,750 | fertett 2,750
A (999 & f&w T 1,000 2,100 | OFRT 5,000
aftnfera) T&Th 7,500
et =1 fertmn 7,550 | 9% Tt ST 10,000
‘ (30-6-2010 ) '
o 1 fasha (q&aes gour 15,400 | 99 (311 & ) 2,950
% 16,000)
55,200 55,200
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I W TE A @ R 31-3-2011 B GEIE g A % AT <31 d41 o WIAr 39N
Hifew |

Following is the ‘Receipts and Payments Account’ of ‘New Club’ for the year ended

31-3-2011:
Receipts and Payments Account of ‘New Club’ for the year ended 31-3-2011
Dr. Cr.
. Amount Amount
Receipts 7 Payments z
To Balance b/d 3,400 | By Salaries (paid for 8 | 24,000
months only)
To Subscriptions 21,000 | By Rent 3,000
To Entrance Fee 5,750 | By Electricity 2,750
To Donations  (includes 2,100 | By Honorarium 5,000
T 1,000 for Building) By Books 7,500
To Hall Rent 7,550 | By 9% Fixed Deposits | 10,000
(on 30-6-2010)
To Sale of Investments 15,400 | By Balance c/d 2,950
(Book value :
¥ 16,000)
55,200 55,200

From the above ‘Receipts and Payments Account’, prepare an ‘Income and

Expenditure Account’ of ‘New Club’ for the year ended 31-3-2011.

e,
e

.

G’ AT T, WAIR & T3 : 2 % AU A & Sftedt & 1 31-3-2011 391 Rl ferawor

15.
= v e
31 | 2011 B ‘@ q9T T w1 gy fravor
it @ i T e 80,000
T 60,000 e 20,000
“ap 40,000 1,00,000 | FHRR 10,000
T HO1 & fere wraue 1,000 | &R 25,000
[T 60,000 | O&HE 16,000
av-gii @ 10,000
1,61,000 1,61,000
. 1
“q aﬁﬁmfafaawﬁ%mwm%;m%fmwwwﬁmmw :
() o fove @ e 2 ;2 ;1 e T
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T 4

AR CiF =i 40,000

i 70,000 ofly e wae 60,000

P 20,000 TR 40,000

TH 10,000 | 1,00,000 | @& 7,000

= O 20,000 | ¥R 12,000

¢ T RO 30,000 | g 5,000
TR 14,000

1,64,000 1,64,000

(i) = T 30,000 3T TSt F feaw AR o ¥ 15,000 ©Af & YR AT & fAw AR
(i) STH | =fq H T 90T 3T WRRR A e o e s A & vem & Qn
‘g’ & a7 § forar o |
(iv) SERI WX SE Tl WG OGN % FeTT 5% T UTere T o7 |
(v) WRRI# afmfed T 500 B Th A I SPIAH Tl BT o |
(vi) wH F fasg T 800 % TF &ifq & T & feTw HIere T o |
SRS QHERH & IvEd @ a9l T % S @il B GEESE 8 S IS % SER W
HAT o, T for aRfefa FuR Ahs A1 SR 3Tera ST ST fohar ST |
A T, WEERT o qeit @ e 7 w6 1 fef faeror dar SR |
Jrerat

P, P qUr T TF A GERR 9 S Al B 7:2:1 F U 8§ fawfea s 9131
A1, 2011 w4 &1 feafa faawor fFeram o

31 | 2011 =Y S, P qur ‘v &1 Refa-faavor

24 TR 2011 W ¥ B GG & TS | FH ot WRRER #F g W 3went IS wfed o= wd

&t % fver % fow wrEieR) dow A et weum fa gu €

(i) TI% GERR B g F T TH ST A & 39 & o st o aut & sitea o
% YR WY ! ST 57 € 80,000 €T |

(i) wEfag & G T SRIREl % TF: FuRor § o WRigR & o @i 6 i,

?ﬁﬁ"'-‘l'lﬂm?%

o 1 e 1 e € 94,000, WIS AT T 38,000 @O WIF H
¥ 5,000 ferar T lmmﬁ%%{q%ﬂ?ﬁwzé%mmmw |

[P.T.O.



(i) Frae g st € & foaees i 37 off, Sk o7 @t B WA X T, e
T 9% ¥ A S |

QAR I, GEIRRE & GoT @, “§° % SNSRI 1 @l 72 S U U &6 i

fereror SR T e 21 i @il S AT o SUIT H T g SIS S ], W@

1 frvag fen & | et ot onfierr o ot &6t TR & =16 @ § REFIRG S

S |

‘B’ and ‘C’ were partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as
on 31-3-2011 was as follows :

Balance Sheet of B and C as on 31-3-2011

Liabilities Amount Assets Amount

4 4
Capitals : Land and Building 80,000
‘B’ 60,000 Machinery 1 20,000
‘C 40,000 1,00,000 | Furniture 10,000
Provision for bad debts 1,000 | Debtors 25,000
Creditors 60,000 | Cash : 16,000
Profit and Loss Account 10,000
1,61,000 | 1,61,000

‘D’ was admitted to the partnership for y_§“‘ share in the profits on the following
terms :

@) D will bring ¥ 30,000 as his capital and ¥ 1§_?OO(5 for his share of goodwill.

(iii) Half of goodwill amount was withdrawn by the partner who sacrificed his
share of profit in favour of ‘D’.

(1) The new profit sharing ratio was decided as 2 : 2 : 1.
_

(iy)- A provision of 5% for bad and doubtful debts was to be maintained.
(v) Anitem of ¥ 500 included in Sundry Creditors was not likely to be paid.

(vi) A provision of ¥ 800 was to be made for claims for damages against the firm.

After making the above adjustments the Capital Accounts of ‘B’ and ‘C’ were to be
adjusted on the basis of D’s Capital. Actual cash was to be brought in or to be paid
off as the case may be.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm. ’

OR

67/1/3 8
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‘G’, ‘E’ and ‘F’ were partners in a firm sharing profits in the ratio of 7: 2 : 1. The

Balance Sheet of the firm as on 31* March, 2011 was as follows :

Balance Sheet of ‘G’, ‘E’ and ‘F’ as on 31* March, 2011

Amount | Amount
Liabilities Assets
(4 , L4

Capitals: Goodwill 40,000
‘Q 70,000 Land & Buildings 60,000
‘E’ 20,000 Machinery 40,000
‘F _10.000 1,00,000 | Stock 7,000
General Reserve 20,000 | Debtors 12,000
Loan from ‘E’ 30,000 | Cash © 5,000

Creditors 14,000
1,64,000 1,64,000

‘E’ died on 24™ August 2011. Partnership deed provides for the settlement of claims

on the death of a partner in addition to his capital as under :

®

(i)

(i)

The share of profit of deceased partner to be computed upto the date of death

on the basis of average profits of the past three years which was ¥ 80,000.

His share in profit/loss on revaluation of assets and re-assessment of liabilities

which were as follows :

Land and Buildings were revalued at ¥ 94,000, Machinery at ¥ 38,000 and

1

Stock at ¥ 5,000. A provision of 22 % was to be created on debtors for bad and

doubtful debts.

The net amount payable to ‘E’s executors was transferred to his Loan Account,

to be paid later on.

Prepare Revaluation Account, Partner’s Capital Accounts, E’s Executor A/c. and

Balance Sheet of ‘G’ and ‘F’ who decided to continue the business keeping their

capital balances in their new profit sharing ratio. Any surplus or deficit to be

transferred to current accounts of the partners.

9 [P.T.O.
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16. vam T 3 T 10 A% ¥ 80,000 GHaT 2490 & FoHA & fow smae smf=a f&3 | 3 o

it T 40 wfe 39 & vitram o Frifag s o 1 af¥r g e TR 9 s
ameeA W T 35 wfd 29w (% 30 it afimfer
aeieA W T 8 Vit 31¥1 (X 4 Wit wiwfer)
7o e A I W - Y

| 77,000 39 F AT AR U U | W SEASHT Bl SN T A H AT TN | Y=,

& 7,000 et 1 e fpar T ot A stee M 1 A e A | aeed &
UTE 3% W H ST B T T | AueE, T U St e Al e | W,
ey o 500 3w &, F v wd ifm AT H A R R | SHE S B Al ST
Y foran mr | ot fopd TR siw R 1,000 3w W T 50 Wi S W W R T WEW T
e o Fear T | o o Fod TR il e b wed st e 4 |

o o, % et S ST e 3 e s o st B |

3rgan ,

S fo1. 3 T 10 YRF F 35,000 TEAT 3 B 10% F 9 W FHT A & feqw e
amt=ra fe | Ui %1 e B U | S o

EARA W T 5 Wi 3w

3reeA W ¥ 3 ufa 3w

TH AT ST AT T — I
50,000 3% % oI SR W T 1 8,000 3T F AT HERAT B T H KA T A A
TITHI TG A ATH S TS | U AATH B I HT ST SUAF SER |
fepam o e 3 oA @ AR W W ifaie Uikt ® gHEST seed W IF Ui |
X forn T 1 e A 600 3 % FAU aaEA fewar or | 3§ e Ui aun wuw ud
S T TR 1 T Fé R 1 e, St 400 e T eW o, ¥ e e St
JTEAT T BT PIA & b | e o el & 31ei St e o fora 1 | et fopd
3 & | 800 ¥ W T 15 Wiy (e qur wgw q: Fvitaa &< fam o

o: frifha R w2 ofet i & Wit ofw sfufea & | swie @Al & faw =
. =t gt | stavas s wfaftedt S |
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Shyam Ltd invited applications for issuing 80,000 Equity Shares of ¥ 10 each at a

premium of 40 per share. The amount was payable as follows :
On Application ¥ :3'5 per share (including ¥ 30 Premium)
On Allotment ¥ 8 per share (including ¥ 4 Premium)
On First and Final Call — Balance

Applications for 77,000 shares were received. Shares were allotted to all the

_applicants. Sundram -‘fo whom 7,000 shares were allotted failed to pay the allotment

6713

money. His shares were forfeited immediately after allotment. Afterwards the first
and final call was made; Satyam the holder of 500 shares failed to pay the first and
final call. His shares were also forfeited. Out of: ihe forfeited shares 1,000 shares
were re-issued at ¥ 50 per share fully paid u;. The re-issued shares included all the

shares of Satyam.
Pass necessary Journal Entries for the above transactions in the books of Shyam Ltd.
OR

Jain Ltd. invited applications for issuing 35,000 Equity Shares of ¥_10 each at a

discount of 10%. The amount was payable as follows :

A~

On Application T 5 per share.
On Allotment ¥ 3 per share '
On First and Final Call — Balance

Applications for 50,000 shares were received. Applications for §,000 shares were
rejected and the a’I;plication money of these applicants was refunded. Shares were
allotted on pro-rata basis to the remaining applicants and the excess money received
with applications from these applicants was adjusted towards sums due on allotment.
Jeevan who had applied for 600 shares failed to pay allotment and first and final call
money. Naveen the holder of 400 shares failed to pay first and final call money.
Shares of Jeevan and Naveen were forfeited. Of the forfeited 800 shares were
re-issued at ¥ 15 per share fully paid up. The re-issued shares included all the shares

of Naveen.

Pass necessary Journal Entries for the above transactions in the boqks of Jain Ltd.

11 [P.T.O.
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PART-B
(fareite faawont =t favawon)

(Financial Statements Analysis)

17 g YaTE T TR F R T |

18.

N

21.

State the purpose of preparing a ‘Cash Flow Statement’.

‘0% TR FEE g ROTOEt & iRl % fAe R g @6t e vt faerer sEn
T T weer wt nfafafir et s 9

While preparing Cash Flow Statement what type of activity is, ‘Payment of Cash to
acquire Debentures by an Investment company’ ?

Forerarell & o fadig faaeon & faveinor & weva @ Seoi@ it |

State the significance of Analysis of Financial Statements to the ‘Lenders’.

ey, T, 1 6] ST 3.5 ;1 T KA U 2 : 1 ¥ | afg w@ieh gr ufatfue
! o], Tl e aiel gt @ S € 1,50,000 § At 9] Sl qen e
I <l TUET DT |

O.M. Ltd. has a Current Ratio of 3.5 : 1 and Quick Ratio of 2 : 1. If the excess of
Current Assets over Quick Assets as represented by Stock is ¥ 1,50,000, calculate
Current Assets and Current Liabilities.

frefeaa e @ Frafafiaa 3 @ k< gt st =t o S
() FOT-THA S

(@) FEE IS STa ST

@m e w yEE

[EAT : GAT 3 Y T 50,000 ; W WEF T 5,000 ; -G WA AN T W b
IIAH % 91K T 15,000 5 9% RO T 20,000 ; SR T 15,000 ; i 71 9 T 65,000
I T 15,000 ; ITIR T 14,500 T TS T 5,500 ; 390 o Fvim ww w1er T 5,000 |

31-3-2011 S WA §T 99 & foae fersbar € 1,50,000 &, T T 50% |

67/1/3 12




From the following information, calculate any two of the following ratios :
. (@) Debt-Equity Ratio

(b) | Working Capital Turnover Ratio and e

(¢) Return on Investment |

Information : Equity Share Capital T 50,000, General Reserve X 5,000; Profit and
Loss Account after tax and interest ¥ 15,000; 9% Debentures ¥ 20,000; Creditors
¥ 15,000; Land and Building ¥ 65,000; Equipments ¥ 15,000; Debtors ¥ 14,500 and
Cash T 5,500. Discount on issue of shares ¥ 5,000.

Sales for the year ended 31-3-2011 was ¥ 1,50,000. Tax rate 50%.

i )

22, 31-3-2011 ! T fe1. o1 o1 foraror fy wep o , : 4
- — ™
4
A .
fasra 2,00,000
I A 15,000
A A 2,15,000
)| I T HIA B AT 1,10,000
e 5,000 h
“ Fel = 1,15,000
N 40,000

31-3-2011 &t FAT gC a9 & feTq I7 fet. o1 WIHT S119hR ot 31T TaoT oA shife |

67/1/3 13 {P.T.O.
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Following is the Income Statement of Raj Ltd. for the year ended 31-3-2011 :

Amount
Particulars

L4

Income : |
Sales 2,00,000
Other Incomes 15,000
Total Income , 2,15,000

Expenses :

Cost of goods sold 1,10,000
Operating expenses 5,000
Total Expenses 1,15,000
Tax 40,000

Prepare a common size Income Statement of Raj Ltd. for the year ended 31-3-2011.

23, 31-3-2010 7= 31-3-2011 A, %ﬁur%ﬁaa Tt Teraront @ Qv wamg faaror AR

FHINT
N 31-3-2010 | 31-3-2011 - 31-3-2010| 31-3-2011
4 L4 4 3

39 Y 3,00,000| 4,50,000 | v 37,500 31,250
GCE) 4,50,000| 4,50,000
A-EI @rar 75,000| 1,50,000 & - 56,250
I|/R 1,50,000{ 1,91,250
3% 30 1,50,000{  75,000|=F ©7,500] 11,250
AT e 60,000( 45,000 0% 15,000 66,250

X A 30,000| 52,500 |

AR 45,000 33,750
6;60,000 8,06,250 6,60,000| 8,06,250
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et g :

ag ® T 1,50,000 % J&IF Hod & 9aq H {963 T 6,000 F T W FHAT W | T R

% 16,000 ST oI FH TET T |

From the following Balance Sheets of C.P. Ltd as on 31-3-2010 and 31-3-2011

prepare a Cash Flow Statement.

31-3-2010

31-3-2010| 31-3-2011 31-3-2011
Liabilities Assets
4 4 L4 T
Share Capital 3,00,000| 4,50,000 | Patents 37,500 31,250
| Building 4,50,0001 4,50,000
Profit & Loss 75,000| 1,50,000}Investments - 56,250
/| Account Debtors 1,50,000| 1,91,250
Bank Loan 1,50,000 75,000 Stock 7,500 11,256
Proposed Dividend 60,000 45,000 Cash 15,000 66,250
| Provision for tax 30,000 52,500
Creditors 45,000 33,750
6,60,000| 8,06,250 6,60,000| 8,06,250

Additional Information :

During the year building having book value ¥ 1,50,000 was sold at a loss of ¥ 6,000.

Depreciation charged on Building was ¥ 16,000.

W -7
PART -C

(rtimter aaie)

(Computerised Accounting)

17. Tt @R &t 3Eied Sig | Uud 3 &l 1 AW ¢ 2

‘What is meant by the first digit in the ‘code’ allotted to an ‘Account’ ?

18.  # 3Td (FeT) TG FTE 2
What is #Null Error ?

67/1/3
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19.

20.

21.

22.

23.

67/1/3

HIF Bl FeloT AT hl HY TETAAT FA & ? 1

How does the usage of computers help the business ?

FiTeRfeT ohaiehT TwaaT & 6wl i Tefun st THRT | 3

Explain any three features of Computerized Accounting Software.

s%a%quw%?m%?ﬁqqﬁaﬁvwl 4

What is DBMS ? Explain its three advantages.

ek 08 o HHfEr & e v @ T S % fAT w37 & =it @t fafay | 4

Write the steps of a query to compute D.A. for employees in Microsoft Access.

(F) ﬁw&aﬁmm@wuﬁﬁn&aﬁmmﬁ%hqﬁawwﬁaﬁm
T |

345000 F qA A TH20% HI A H;
T 45,000 ¥ 37es =t TR W 25% H T H |
(e o i, 7 waife)
(@ URA & 39 foxiig & H1 AW a0 §¢ AT g g 3t safEt & e
e STt = o ot e ST 2 2+4=6

(a) Calculate the formula from the following information on Excel for computing
the amount of conveyénce allowance. Basic salary up to ¥ 45,000 @ 20%, for

more than ¥ 45,000 @ 25% (Basic salary is projected in C,)

(b) Name and explain the financial function of Excel which is used to calculate

cumulative interest paid between two periods.
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